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Section 6.8 Graphs of Polar Equations

As usual, graphing by just plotting points is the last-ditch effort of a person who
has no clue what the thing looks like. We want as much insight/intuition as
possible to help guide us, starting with the different kinds of symmetry.

Replace (r, ) by (r, @ — 6) or (—r, — 8).
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Replace (r, 8) by (r, —8) or (—r, 7 — 6).
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2. The polar axis:
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% 3. The pole: Replace (r, 8) by (r, w + @) or (—r, 6).
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Tests for Symmetry in Polar Coordinates
The graph of a polar equation is symmetric with respect to the following when
the given substitution yields an equivalent equation.

1. The line & = m/2: Replace (r, 8) by (r, 7 — @) or (—r, — ).
2. The polar axis: Replace (r, 6) by (r, —8) or (—r, 7 — 6).
3. The pole: Replace (r, §) by (r, 7 + ) or (—r, 6).

Quick Tests for Symmetry in Polar Coordinates
1. The graph of r = f(sin ) is symmetric with respect to the line § = g

2. The graph of r = g(cos #) is symmetric with respect to the polar axis.
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Rose Curves
n petals when n is odd, 2n petals when n is even (n = 2)
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LarTrig? 6.8.001. (2456909) (Add) -- view " Y]

Comment: not randomized

Fill in the blank.

The graph of r = fisin &) is symmetric with respect to the line

O[F]e==Z .
2 r = S‘;}Q ‘\’I—‘)'S““Q

LarTrigd 6.8.002. (2456656) (Add) — view ™ CEBICT I DIC ===

Commment: not randomized

Fill in the blank.

The graph of r = g{cos(8)) is symmetric with respect to the
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LarTrig9 6.8.006. (2456087) (Add) -- view

Compmsnt: not randomized
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Fill in the blank.
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Fill in the blank.

The equation r = 3 cos 8 represents a

LarTrig? 6.8.003. (2456911) (Remove) - view FY Y YY)

Comment: not randomized

Fill in the blank.

The equation 2 = 4 sin 26 represents a
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LarTrig9 6.8.009. (2436922) (Remove) - view

Identify the type of polar graph.
r=4(1-2 cos(f))
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LarTrig? 6.8.010. (2534285) (Add) -- view

Identify the type of polar graph.
r® =9 cos 28
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Identify the type of polar graph.
r=23sin 28
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